



ICHABOD GOLF



Doug Hamilton Head Coach

Doug Hamilton was named the Ichabod head golf coach Sept. 12,

2002. He is a 1988 graduate of Pittsburg State University where he was a two-year member of the Gorilla basketball team and he also a member of the Pitt State golf team his senior season. He graduated from Washburn Rural High School in 1983.

Hamilton was the Topeka Golf Association Match Play Champion following the 1997 and 2000 seasons, as well as part of the 2000 Two Man Best-Ball Champion. He also was named the 2000 City Player of the Year. He has twice qualified for the Kansas Golf Association Kansas Amateur in 2000 and 2002.

2003 Washburn Golf Schedule

March 17-18 Texas Intercollegiate Golf Championships

Arlington, Texas

March 24-25 Arkansas Tech Collegiate Golf Classic

Russellville, Ark.

April 7-8 Missouri Southern Crossroads Inviational*

Joplin, Mo.

April 14-15 District V Qualifier at Ironhorse

Kansas City, Mo.

April 21-22 Washburn Invitational - Topeka Country Club*

Topeka, Kan.

April 28-29 MIAA Championships at Alvamar Country Club*

Lawrence, Kan.

For more information on the Washburn University Ichabods golf team, please contact:

GENE CASSELL SPORTS INFORMATION DIRECTOR WASHBURN UNIVERSITY TOPEKA KS 66621

SID Office Phone	785.231.1010
	x1791
SID Fax	785.231.1091
SID Home	785.357.5094
Golf Office	785.231.1010 x1764

ICHABODS QUICK FACTS

Location	Topeka, Kan
Enrollment	6,500
Founded	1865
Nickname	Ichabod:
Colors	Yale Blue and White
Home Course	Topeka CO
Athletic Affiliations .	NCAA Division I
Mid-Ar	merica Intercollegiate
	Athletics Association

President Dr. Jerry Farley
Athletic Director Loren Ferre'

Head Golf Coach Doug Hamilton Alma Mater Pittsburg State '88

2002 MIAA Tournament 4th

2003 Golf Roster

Chris Alpers SO Emporia, Kan/Emporia High School

Garrett Donovan JR Rossville, Kan/Barton County Community College

Derek Dultmeier SR Topeka, Kan/Butler County Community College

Jared Goehring JR Topeka, Kan/Washburn Rural High School

Cam Hubbard SR Topeka, Kan/Ferris State University

Chris Ichelson SO Lawrence, Kan/Missouri-Kansas City

Paul Resner SO Emporia, Kan/Emporia High School

Matt Warnock FR Liberty, Mo/Liberty High School

Head Coach: Doug Hamilton (Pittsburg State, 1988)

Assistant Coach: Lee Barrett

ICHABOD GOLF



CHRIS ALPERS



Sophomore Emporia, Kan. Emporia HS

At WU as a sophomore in 2002-03: Finished the season with an 80.2 stroke average shooting a low round of 74 at the Missouri-Rolla Invitational.

At WU as a freshman in 2001-02: Competed in two tournaments, finishing with an 81.5 stroke average in four rounds.

Background: Helped Emporia High to a second place finish in the 6A State Championship in 2001. Finished second in the Centennial League Tournament and seventh in the regional tournament Personal: Born April 1, 1983. Son of Mike and Carla Alpers. Majoring in business marketing and finance.

GARRETT DONOVAN



Junior Rossville, Kan. **Barton County CC**

At WU as a sophomore in 2002-03: Finished the fall season with a team-best 76.6 stroke average, leading WU to a title in the Central Christian College Tournament by shooting a

69 on Sept. 9 and was named the team MVP. Background: A transfer from Barton County Community College. Graduated from Rossville High School, where he won the state championship in 1997 as a freshman and finished second in 1999 and 2000. He was also a four-time regional champion and three-time league champion.

Personal: Born June 6, 1982. Son of Jack and Ruth Donovan. Majoring in criminal justice.

Derek Dultmeier



Senior Topeka, Kan. **Butler County CC**

At WU as a junior in 2002-03: Finished second on the team with a 77.4 stroke average shooting a low round of 72 at the Central Christian College Tournament. Background: A transfer to

Washburn from Butler County Community College,

2003 MIAA Championships

The 2003 MIAA Golf Championships will be held at Alvamar County Club in Lawrence, Kan. The 54-hole tournament will be conducted from April 28-29. MIAA golfers will play 27 holes (18-9) on Monday and 27 (9-18) on Tuesday. A practice round is slated for Sunday, April 27.

Pittsburg State will host the tournament. Central Missouri State is the three-time defending champions.

where he earned third team All-Jayhawk League honors for the national tournament qualifying Grizzlies. A 1999 graduate of Topeka West, where he was runner-up in the league and regional tournaments and finished seventh in the state tournament in 1999. He helped the Chargers finish first in the regional tournament and third at state.

Personal: Born March 11, 1981, Son of Sandra Dultmeier. Majoring in accounting.

JARED GOEHRING



Topeka, Kan. **Washburn Rural HS**

As a sophomore in 2001-02: Finished the fall with a stroke average of 82.3, firing a career-low of 73 in the Central Christian Tournament.

As a freshman in 2002-03: Played in two tournaments

posting a 87.0 stroke average.

. Background: A 2000 graduate of Washburn Rural, where he was a member of the basketball and golf teams. Also a member of the honor roll.

Personal: Born Nov. 13, 1980. Son of Mike and Patti Goehring. Majoring in education.

CAM HUBBARD



Senior Topeka. Kan. **Ferris State University**

As a senior in 2001-02: Sat out the season as a redshirt. Background: Transferred from Ferris State University, where he earned second team All-Great Lakes Intercollegiate Athletic Conference honors

with a 76.1 stroke average his freshman year. Had a 78.8 stroke average and fired a season-best 69 in the Ferris State Invitational. A 1998 graduate of Shawnee Heights High School, when he led the T-Birds to a regional crown by earning medalist honors with a 74.

PAUL RESNER



Sophomore Emporia. Kan. **Emporia HS**

As a freshman in 2001-02: Averaged 80.2 shooting a low round of 76.

Background: A 2001 graduate of Emporia High School, where he was a three-time state qualifier in the 6A tour-

nament and earned two medals. Also finished in the top 10 three times in the Centennial League Tournament.

Personal: Born July 26, 1982. Son of Wally Resner and Vivian Massaglia. Majoring in business.

MATT WARNOCK



Freshman Liberty, Mo. **Liberty HS**

Background: At Liberty High School, as a freshman, he was named most promising newcomer and as a sophomore he was named most improved player. As a junior and senior he was team cap-

tain and was the Medalist Award winner for the lowest stroke average. His final season he was an allconference, second team All-State, and the 2001 Collegiate Preview Series All-Tournament team sponsored by the Kansas Golf Association.

Personal: Born June 21, 1983. Son of Jack and Bonnie Warnock. Majoring in business management and pre-law.

Washburn Golf Notes Past Team MVPs

991	Scott Weibel SO	1997 Greg Shirron SR
992	Scott Weibel JR	1998 Phil FrostSR
993	Scott Weibel SR	1999 Mike RoeSR
994	Chandler Nelson JR	2000 Kyle Brandt JR
995	Chandler Nelson SR	2001 Justin Jacquinot SR
996	Mike Bogner JR	2002 Garrett DonovanSO



329 17/20 Teams

T80 Lee Barrett

T89 Chris Alpers

T5 Derek Dultmeier

T56 Garrett Donovan

T89 Jared Goehring

Rd 1

Total

Name

TEAM

7 2001-02 RESULTS

				- Ove	erall		– MIAA –			
Ichabod Golfer	YR	Hometown	Rds.	Strokes	Avg.	Low	Rds.	Strokes	Avg.	Low
Garrett Donovan	SO	Rossville, Kan.	20	1532	76.6	69	11	840	76.4	74
Derek Dultmeier	JR	Topeka, Kan.	22	1703	77.4	72	12	1000	83.3	72
Dustin Gann	JR	Hutchinson, Kan.	21	1646	78.4	70	12	942	78.5	70
Lee Barrett	SR	Sherwood Park, Alberta	24	1923	80.1	72	13	1007	<i>77.4</i>	72
Paul Resner	FR	Emporia, Kan.	10	802	80.2	76	4	318	79.5	76
Chris Alpers	FR	Emporia, Kan.	9	722	80.2	74	8	635	79.4	74
Jared Goehring	SO	Topeka, Kan.	2	174	87.0	79	4	352	88	79
Central Christian (September 9-10, 2	2001	M	ewman I arch 11-					mpionship Tour Par 72 - Boliv		

	- 1										
Central Christian Coll				Newman Invitational				MIAA Champions			
September 9-10, 2001				March 11-12				(Silo Ridge Par 72	2 - Bolivar,	Mo.)	
291 (144+144) 1/9 Tea		D4 0	Total	619 8/23 Teams	DJ 1	D-I O	Total	April 29-30	000 2/0 T		
Name Garrett Donovan	Rd 1 35	Rd 2 34	Total 69	Name T26 Dusty Gann	Rd 1 75	Rd 2 78	Total 153	303-151-155-320- Name		eams 9 9 18	Total
Derek Dultmeier	37	3 4 35	72	T47 Garrett Donovan	83	73	156	Lee Barrett (T6)		36 37 81	227
Dustin Gann	36	3 7	73	T47 Paul Resner	76	80	156	Garrett Donovan		37 40 75	229
Jared Goehring	37	38	77	T57 Derek Dultmeier	77	80	157	Derek Dultmeier		38 39 83	235
Lee Barrett	39	41	80	T78 Jared Goehring	80	81	161	Dusty Gann (T27)		40 39 81	238
TEAM	147	144	291	TEAM	308	311	619	Jared Goehring (TEAM (Third)	Г36) 79 4	48 41 94 51 155 320	262 929
Truman State Bulldog		ssic		MWSC Invitational					-	31 133 320	323
September 17-18, 200 598 (237+148+153) 3		S		April 1-2 629 T4/16 Teams				NCAA Central Reg Lassing Pointe CO		· Union, Ky.	
Name		Rd 2 Rd 3		Name	Rd 1	Rd 2	Total	May 7		, -	
6 Dustin Gann		36 40	146	T18 Derek Dultmeier	74	82	156	305 4/7 Teams	_		
T10 Derek Dultmeier		35 39	149	T18 Lee Barrett	75	81	156	Name	Fron		Total
T23 Garrett Donovan T28 Lee Barrett		40 39 38 35	153 155	T30 Paul Resner T35 Chris Alpers	80 77	80 84	160 161	Garrett Donovan Dusty Gann (T16)	(T4) 34 38	39 38	73 76
T34 Paul Resner		30 30 39 41	158	T55 Dustin Gann	86	80	166	Derek Dultmeier		38	76 77
TEAM		148 153		TEAM	306	323	629	Paul Resner (T23		40	79
						0_0	0_0	Lee Barrett (T33)	38	44	82
Northeastern Oklahon		Invitatio	nal	Washburn Invitational				TEAM (Fourth)	150	155	305
September 23-24, 200				April 8							
641 (317+323) 7/20 To		D.1.0		318 3/8 Teams		D1-		2001 Fall	Ctrolio	Augros	100
Name	Rd 1	Rd 2	Total	Name	Front	Back	Total	ZUU I FAII	JUUK 6	Averay	65
Garret Donovan Derek Dultmeier	79 78	75 82	154 160	T2 Garrett Donovan T 13 Derek Dultmeier	35 40	40 40	75 80		#Strokes	#Rounds	Avq.
Lee Barrett	78	84	162	T 13 Lee Barrett	40 42	38	80	C 11 D			
Dusty Gann	83	82	165	T 27 Chris Alpers	44	39	83	Garrett Donovan	689	9	76.5
Jared Goehring	82 317	85 323	167	T 40 Jared Goehring	47	43	90	Derek Dultmeier	689	9	76.5
TEAM	317	323	640	TEAM			318	Dustin Gann	622	8	77.8
UMR Fall Invitational October 8, 2001				District V Invitational Leawood)	(Ironhors	se GC -		Paul Resner	158	2	79.0
936 (311+317+307) 11			N=	April 15-16				Lee Barrett	726	9	80.7
Name T32 Garret Donovan		Rd 2 Rd 3 78 78	3 Total 231	623 3/9 Teams Name	Mon.	Tues.	Total	Chris Alpers	326	4	81.5
T38 Derek Dultmeier		80 76	233	T8 Lee Barrett	77	78	155	Jared Goehring	331	4	82.3
T47 Dusty Gann T50 Chris Alpers		77 76 83 82	238 239	T8 Dusty Gann T17 Garrett Donovan	79 73	76 85	155 158	2002 Sprin		re Avera	
T64 Lee Barrett	85	82 77	244	T20 Paul Resner	81	79	160				
TEAM	311	317 307	935	26 Derek Dultmeier	82	80	162		#Strokes	#Rounds	Avg.
Drugg Classic				TEAM	310	313	623	Garrett Donovan	843	11	76.6
Drury Classic October 16, 2001				Central Missouri Hear	rt of Ame	rica Gol	f	Lee Barrett	845	11	76.8
SOLUMUI IU, LUUI				Julium milogoum Albai	. VI MIIIU	vu udi	-	Lee Daniell	043		AUX O

Tournament (Pertle Springs Par 71 -

Mon.

Total

Tues.

Warrensburg, Mo.)

299-297596 7/13 Teams

April 22-23

Lee Barrett

Chris Alpers

Dusty Gann TEAM

Derek Dultmeier

Garrett Donovan

Name

TEAM (Fourth)	150	155	305
2001 Fall	Stroke	Averag	es
	#Strokes	#Rounds	Avg.
Garrett Donovan	689	9	76.5
Derek Dultmeier	689	9	76.5
Dustin Gann	622	8	77.8
Paul Resner	158	2	79.0
Lee Barrett	726	9	80.7
Chris Alpers	326	4	81.5
Jared Goehring	331	4	82.3
2002 Sprin	g Strok	e Avera	ges
	#Strokes	#Rounds	Avg.
Garrett Donovan	843	11	76.6
Lee Barrett	845	11	76.8
Derek Dultmeier	1014	13	78.0
Dusty Gann	1024	13	78.8
Chris Alpers	396	5	79.2
Paul Resner	644	8	80.5
Jared Goehring	513	6	85.5
Rvan Racklev	86	1	86.0